R E2ARA

DW - DW VOX

SUBMERSIBLE SEWAGE PUMPS




DW - DW VOX

EBARA presents the DW - DW VOX Submersible Pump. The ONLY submersible pump for light screened Sewage and dirty water.
The pump is manufactured entirely from a single sheet of 304 stainless steel using the EBARA pressing method. Comprising of a
single channel impeller or “Vortex” style and incorporating a double mechanical seal. The volute of the DW - DW VOX is made as
an integral part of the pump casing using the EBARA patented pressing technology.

APPLICATIONS

Removal of treated liquid waste.

Draining of building sites.

* Draining of sump pits.

» Emergency drainage pumps for flood protection.
« Tank emptying.

» General dirty water duties.

TECHNICAL CHARACTERISTICS

Completely pressed from 304 stainless steel.

Pump body and spiral volute produced using EBARA patented technology.

DW = Single Channel Impeller.

DW VOX = Open fronted impeller - “Vortex” style in recessed position.

* Lifting handle provided as standard.

» Shaft extension made in 304 stainless steel.

» Double mechanical seal with oil chamber for lubrication.

» Mechanical seal components - graphite/ceramic and silicon carbide/silicon carbide.

2



SELECTION CHART

0 USgpm. 50 100 150 200 250
i ] | 1 | |
! T T T 1
0 Imp.g.p.m. 50 100 150 200
T 25 =)
T I
-~ 70
-
20
[
. 60
N"n-..
1] -
gt W [ — 50
15 Bog | i Dw ]
By .H\
e
e -
- -~ ~ 40
g 10 N a8 - \‘\\ - e
- ™ DW VOX < B - 30
§ - ~
- - E ™
B I h g . o - 20
> = T 1 = ]
‘\""-. - T _ 10
™ T o o s e s ot 9
0 6
0 100 200 300 400 500 600 700 800 900 a [1/min]
| T T | | T T T T T T T 1
0 5 10 15 20 25 30 35 40 45 50 55 @ [m3h]
Pump type kw HP Q = Capacity
I/min 0 100 200 300 400 500 600 700 800 900
m?h 0 6 12 18 24 30 36 42 48 54
H = Total manometric head in meters
DW 75 0.55 0.75 11.1 8 6.3 4.8 3.4 2.2 — — — -
DW 100 0.75 1 13.3 10.6 8.7 7.1 55 4 2.6 — — -
DW 150 1.1 1.5 15 13.1 11.3 9.5 7.7 5.9 4.2 2.4 - —
DW 200 1.5 2 18.2 16.6 15 13.3 11.4 9.5 7.5 5.4 3.3 —
DW 300 2.2 3 21.8 20 18.3 16.6 15.1 13.3 11.3 9.3 7.2 5
DW VOX 75 0.55 0.75 7.3 6.3 5 3.5 1.6 - — — — —
DW VOX 100 0.75 1 9 7.9 6.7 5.3 3.7 1.9 — — — -
DW VOX 150 1.1 1.5 11.4 10.2 9 7.6 6.1 4.1 2.1 — — —
DW VOX 200 15 2 13.8 12.5 11.2 9.8 8.3 6.4 4.2 1.6 - -
DW VOX 300 2.2 3 17 15.7 14.7 13.9 12.6 10.7 8.4 6.1 3.6 —

v ONLY FOR SINGLE PHASE WITH FLOAT SWITCH

1

1

1

1

;

1

: 75
i 100
:

1

1

1

1

1

1

1

1

HP CODE 150
200
300

ONLY SINGLE PHASE VERSION

_____________________________________________________

______________________________ FLANGE _____ I F_IWITHBASE ____
! FZ 1 WITHOUT BASE
PUMP NAME DW SINGLE CHANNEL IMPELLER

DW VOX | VORTEX IMPELLER




SPECIFICATIONS

DW F _DWFZ
DW VOX F 1| DW VOX FZ
FLANGED _| FLANGED

WITH BASE WITHOUT BASE

PUMP
Type of liquid Dirty water, sewage water
Liquid Handled Max temperature [°C] 40
Max solids size mm] 50 spherical
Maximum immersion m| 10
Impeller Single channel (DW)
Construction vortex (DW VOX)
Shaft seal type Double mechanical seal
Bearing Sealed ball bearing
Pipe connection Suction-Flange [mm] 50 Open
Discharge-Flange G2
Casing AISI 304
Impeller AISI 304
Casing cover AISI 304
. Pump side: SiC/SiC/NBR
Material Shaft seal Motor side: Carbon/Ceramic/NBR
Seal cover AISI 304
Shaft AISI 303 (Part in contact with liquid)
Lubricating liquid White mineral oil: Esso Marcol 172 (385 cc)
Applicable standard of test ISO 9906 grade 2
MOTOR
Submersible dry type
Type Single Phase \ Three Phase
No. of Poles 2
Rotation speed [min7] =2800
Insulation Class F
Protection degree IP 68
Power rating [kwW] 055+1.1 0.55+2.2
[HP] 0.75+15 0.75+3
Frequency [Hz] 50
Voltage V] 230 + 10% 400 + 10%
Capacitor Built in -
Over load protection Built in Provided by the user
Float switch Optional -
Float switch cable material HO7RN-F -
size 3G1 -
Casing material AISI 304
Base material/motor support AISI 304
lenght [m] 10
Power cable material HO7RN-F
size 3G1 (up to 0.55 kW) 4G1.5 + 2x0.5
3G1.5 (from 0.75 to 1.1 kW)
Dimensions of cable entry Cable Gland




TECHNICAL DATA

DW
Type pumps Power Capacitor Input power Full load current Locked
rotor current
Single Three Single Phase [kW] [A] [A]
Phase Phase
230V 400 V [kW] [HP] [KF] Ve [V] Single Three Single Three Single Three
50 Hz 50 Hz Phase Phase Phase Phase Phase Phase
75 M 75 0.55 0.75 20 450 0.9 0.85 3.9 1.5 17 8.5
100 M 100 0.75 1 25 450 1.28 1.19 5.9 2.1 26 14.2
150 M 150 1.1 1.5 315 450 1.57 1.55 7.3 2.8 35 24.2
— 200 1.5 2 — - - 2.08 — 3.6 — 30
— 300 2.2 3 — — — 2.9 — 5.0 — 45
DW VOX
Type pumps Power Capacitor Input power Full load current Locked
rotor current
Single Three Single Phase [kW] [A] [A]
Phase Phase
230V 400 V [kW] [HP] [LF] Ve [V] Single Three Single Three Single Three
50 Hz 50 Hz Phase | Phase | Phase | Phase | Phase | Phase
75 M 75 0.55 0.75 20 450 0.88 0.80 3.9 1.4 17 8.5
100 M 100 0.75 1 25 450 1.25 1.18 5.8 2.1 26 14.2
150 M 150 1.1 1.5 315 450 1.58 1.57 7.3 2.8 35 24.2
- 200 1.5 2 - - - 1.92 — 3.3 - 30
= 300 2.2 3 — — — 24 — 4.4 — 45
DW - DW VOX
Type pumps Ball Bearing
Single Phase | Three Phase
230V 400 V Pump side | Cover side
50 Hz 50 Hz
75 M 75 6303 ZZ 6203 ZZ
100 M 100 6303 2Z 6203 27
150 M 150 6303 2Z 6203 ZZ
- 200 6303 7Z 6203 77
300 6303 ZZ 6203 77
36
] L Ref Part Name Material
_Q%ﬂ_ A Rubber seat NBR
B Stationary ring Ceramic
MOTOR o~ 6| of IMPELLER g FF:Ot‘ary ““gl Cﬁré)g”
SDE 2| ey =| ™| SDE oary sea
= 8 @ E Coil spring AIS| 304
| F Rotary seal NBR
_ G Rotary ring Silicon Carbide
| H Stationary ring Silicon Carbide
| Rubber seat NBR

A-B CD EF

G

H |




DW PERFORMANCE CHART

R.P.M.: =2800 min*
Test fluid: clean water at 20°C
Applicable standard of test: ISO 9906 grade 2

DW
SINGLE
CHANNEL
IMPELLER
0 USgpm. 50 100 150 200 250
[ [ | | i |
| ] | T
0 Imp.gp.m. 100 150 200
I T
™ - 70
T
20
™ - 60
\h\‘h.. -
P
e [
- 50
15 I <
™ .‘\'\ M“\
h N I~ L 4p
) ‘-...\ N \\‘*-.,_
2 oNGHN F BB =
I \.\ - - - ™ - 30
. - P~ [
g ~ """‘--. \..\
E ™ T\""'--..‘ L \"\‘ [ 420
5 n L N ™ N 0w 300
[l
o = -
ms nUENN INDW 200 0
P~ | LLow 1004 ow 150
DW 75 (111
. ENEEEN .
0 100 200 300 400 500 600 700 800 900 @ [I/min]
I | T ] f ] T | T | T 1
0 5 10 15 20 25 30 35 40 45 50 55 0 [m3/h)




DW VOX PERFORMANCE CHART

.. DWVOX
' il i VORTEX
IMPELLER
0 USgpm 50 100 150 200
| L L l I
| T T T
0 Imp.g.p.m. 50 100 130
—_ 20 —
E =
T —60 T
H""“'--_
H"‘"--..
— 50
15 <
4 TN
""‘“--..,‘_ “x\\ L
i H'“"---._ ™
[
10 T [ N
e ““x\x ‘\\ 5
= T =k \H\ [~
b= e MN"“\-.. \'\;
=
o 5 ™ e \\ [ \\ L
~. ] u B \\\ \.\\ \\DW VOX 300
~ ~
T a [ ™ h 10
~J \ ~
™ N N L Dw vOX 200
. 1] HEER | 0
0 100 200 300 400 500 600 700 800 G [1/min]
| T T T T T )
0 10 20 30 40 50 @ [m¥/h]
R.P.M.: =2800 min*
Test fluid: clean water at 20°C
Applicable standard of test: ISO 9906 grade 2




SECTIONAL VIEW

N° Part name Material Q.ty N° Part name Material Q.ty
1 Casing AISI 304 1 57 Spacer [6] AISI 304 4
4 Casing cover AISI 304 1 72 Casing ring [5] NBR 1
6 Shaft with rotor AISI 304 1 89 Washer AISI 304 1
7 Impeller AISI 304 1 91 Washer AISI 304 1
11 Mechanical seal SiC/SiC/NBR 1 96 Oring NBR 3
11 Mechanical seal Carbon/Ceramic/NBR 1 97 Power cable entry NBR 1
12 | Motor frame with stator - 1 98 | Floating sw cable entry [2] NBR 1
13 Motor cover AISI 304 1 104 | Cable entry for support [2] NBR 1
16 Terminal - 1 108 Cover packing NBR 1
18 |Mechanical seal protection [4] AISI 304 1 110 Protector [1] - 2
19 | Lower side ball bearing - 1 121 | Support for float switch [2] AISI 304 1
20 | Upper side ball bearing - 1 122 | Impeller protection ring [7] AlSI 304 1
21 Adjiusting ring Steel C70 1 123 Handle AISI 304 1
23 Capacitor [1] - 1 127 | Power cable connector AISI 304 1
26 Oring NBR 1 128 |Floating sw. cable connector [2] AISI 304 1
27 O ring NBR 1 131 |Support for protector [3] Nylon 1
27 O ring [6] NBR 1 133 | Support for probe [3] Aluminium 1
30 |Mechanical seal spacer Brass 1 134 |Cover for support probe [3] Nylon 1
32 Key AISI 304 1 200 Screw Stainless steel A2 UNI 7323| 6
46 Bearing housing G20 1 204 Screw Stainless steel A2 UNI 7323| 3
50 Spacer [6] G20 1 208 Screw Stainless steel A2 UNI 7323| 1
52 | Terminal insulating box Nylon 1 218 Nut Stainless steel A2 UNI 7323| 4
54 Power cable - 1 220 Nut Stainless steel A2 UNI 7323| 4
55 Float switch [2] — 1 260 Lubricating liguid White mineral oil 385 cc

[1] Only for single phase

[2] Only for single phase with float switch

8

[3] Only for single phase DW 150
[4] Except for DW-DW VOX 300

[5] Only for DW

[6] Only for DW-DW VOX 300
[7] Except for DW VOX 150,200 and 300



PART LIST

FZ version

FZ version

_‘q___ i

Tl
_.mm_
Ll
fiel

NN

By
WO

CiE
el i
Y
o __.____ ____ |

Ao

o

L \

W
Y

W

I [, '
.@__._mv ;I____._+ /w___. ¥




DW - DWF - DWFZ DIMENSIONS

DW - DW VOX DWF - DWF VOX
s -
I ‘ﬂ%ﬁ\ﬁﬁ% ~
| K AR &4
| L slgida 'y
| INTHAEAN
| g B
, ‘ : , \
| ! ! P
: R\
1 | ; | \
T L 2
| R .
| cdzmgmomal,
| ! ' i ||
| e S B
T““‘_"_ - == B —L !
. . S
e R A
Bl | | | ! o
I .IL_ _L::[Lﬂ‘:_ o e { g{
[
b s ”
{1+ I S
I e | !
,xr\,x
L
ey
E
N4 holes
205
P ¢ B
Pump type H Pump type H Pump type H
[mm] [mm] [mm]
DW 75 (VOX) 485 DWF 75 (VOX) 485 DWFZ 75 (VOX) 427
DW 100 (VOX) 515 DWF 100 (VOX) 515 DWFZ 100 (VOX) 457
DW 150 (VOX) 515 DWEF 150 (VOX) 515 DWFZ 150 (VOX) 457
DW 200 (VOX) 515 DWF 200 (VOX) 515 DWEZ 200 (VOX) 457
DW 300 (VOX) 545 DWEF 300 (VOX) 545 DWFEZ 300 (VOX) 487

10



INSTALLATION

i

FZ Version

.=

s

077

PACKING AND WEIGHT

Dimensions [mm]

600

A
B 250
C 500

<
L&\//

TN

Type pumps Packing [mm] Pump weight [Kg]
Single Phase Three Phase Z X Y Single Phase | Three Phase

DW 75 M DW 75 290 260 550 16 16
DW 100 M DW 100 290 260 550 18 18
DW 150 M DW 150 290 260 550 20 20

— DW 200 290 260 550 - 20

- DW 300 290 260 550 — 26

DW VOX 75 M DW VOX 75 290 260 550 16 16
DW VOX 100 M DW VOX 100 290 260 550 18 18
DW VOX 150 M DW VOX 150 290 260 550 20 20
— DW VOX 200 290 260 550 — 20

— DW VOX 300 290 260 550 — 26

11



EBARA Pumps Europe S.p.A. reserves the right to make modification without prior notice.

EBARA PUMPS EUROPE S.p.A.

Via Pacinotti, 32

36040 BRENDOLA (VI) ITALY

Phone (0444) 706811 - Fax (0444) 706950
Plants: Cles, Brendola

e-mail: ebara_pumps@ebaraeurope.com
www.ebara.it

FRANCE

Z.. des Amandiers

39 Rue des Entrepreneurs
78420 CARRIERES SUR SEINE
Phone: (1) 30865480

Fax: (1) 39131971

SPAIN

Poligono Las Arenas, C/Alameda, 1
28320 PINTO (MADRID)

Phone: 916.923.630

Fax: 916.910.818

GERMANY

Philipp-Reis - Str. 15

63128 DIETZENBACH

Phone: (6074) 82790 - Fax: (6074) 827945

EBARA PUMPS UK LIMITED
Unit 7 - Zodiac Park

High Road - Cowley

Uxbridge

Middlesex - UB8 2JA

Phone: 01895 439 027

Fax: 01895 439 028

cod. 475200602

EBARA POMPY POLSKA Sp. z.0.0.
ul. Paryska 11/15 m 41

03 - 954 WARSZAWA

POLAND

Tel. 0048 226160801

Fax 0048 226160801

06/02



